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1. Choose the correct answer of the following :

(any ten) 1x10=10
Fisie esrmes »F wa Teathl A SRedl 3
(Riepizar w2b1q)

(@) An expression of interest to buy a
showcase item from a shopkeeper is
a/an

Contd.



{l} aCCe |
: Ptance / Fsfs
(H). requf:st / %&1

B iz, 33 < e T

M 1st January, 1872
| ° GIREL St
() 1st April, 1872
S G, ypqy
(i) 1st July, 1872

: W, 298

(iv
0 st September, 1872
> (bT¥FE, Sbqy
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(c) An agreement to procure a government

job is a/an
BaFIR] BIFE 2R el AT T TEB

(1) illegal agreement
iy TS
(i1) unenforceable agreement
R CRIRIS R
(iij) void agreement
(iv) voidable agreement

SISGRIRIERE
(d A contract of indemnity 1s a

wfood pfe <ol
(i) future contract
oL e
(i1) wageringr contract
G pe
(iij) contingent contract
<l AT B
(iv) quasi contract

w7 Bl

Contd.
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(e) In an agreement to sell, the property 11
goods is transferred

TFl TaEe AT T W 2
(i) -at present

BIRIDI
(i) 1in future

ICIREIGIY)

(iii) both, at present and in future
(iv) None of the above
99 I8 T

(/ The provisions regarding maximu{ﬂ
number of members in a partnership
are given in 3
SIAMIS TS I ey A= TS
ffEfam 2 wigaT 25
(i) the-Contract Act
P& 2
(ii) the Companies Act
SaRciIRIED
(i) the Partnership Act

SR SNiE

(iv) the Societies Registration Act

Ao 21§ wiEn
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(9)

(h)
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Reconstitution of partnership firm
requires

SRAWIST &SP 2JafoT e =3

() in case of admission of partners
ST AT (R

(W) in case of expulsion of partners
SRS AREe Crae

(i) in case of retirement of partners
AW SRS (e

(iv) All of the above
AT ARCAIETT

Who appoints the Central Information
Commission ?

FHR O TS (SiE [y e

() The President of India
OIS FEHife

() The Prime Minister of India
ISIEICE EE e

() The Chief Justice of
Supreme Court

TN TINETET 27 AT

(iv) None of the above
2T GBI T2y

Contd.




(1)

0)

(k)

The Rights to Informatlon Act 2005
came into force on

200¢ Heq WA W@%W RS (2
@) 12th July, 2005

o \T:;(T'ﬂi, R00¢
(i R

S 958, 006

(i) 12th September, 2005.-
2R (BUEFE, Soo¢

(iv) 12th October, 2005
: >R WIRA, Y006

All agreements are contracts.

(i)  Correct [ =

(ii) Incorrect [ s

An agent cannopt Wwork for more than
One€ principa],

()  Correct / e
(i) Incorrect/ Oy
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(m)

(n)
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A minor can appoint an agent..

e - Aol e 1 #iE)
(i) Correct
el

(i) Incorrect

IR
Sale is not an executed contract.
R 9ot F7iifre pfe 723 |
i) Correct

17

(i) Incorrect
R

In case of defective delivery, the buyer
can reject the goods.

Glsjel eIl CwEe, (Tl #ie) SOy FRA
2N |

() Correct
R

(ii) Incorrect

ikl

Contd.




(0) Registration of limited Iliability

partnership shall be with the Registrar
of Companies.

IR =& evaw T R
W‘(Wmﬂﬁﬂ@%ma?ﬁqmﬁm

(i) Correct
S
(i) Incorrect
Rk
(p) A bill of exchange can be crossed.
< Rt @i MR
()  Correct
N

(i) Incorrect

(@ A cheque needg acceptance

S FFoq eiraie
() Correct
‘@q

(i) Incorrect
R

(r) Partial endorsement is valid.
SR 2RI (Y I |
(i) Correct

T

(1) Incorrect

O[&

Answer any five of the following questions
' 2x5=10

Frsie eaprEa e Sise e & ¢

in brief :

(@) What is an offer ?
AT PIF (0T 2

(b) Write two differences between
agreement and contract.
IVIE W pieT MEw 7o el

(c) Write two elements of a contract of

indemnity.

FovEel G 76 ol 2|
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(@)

(e)

(g)

(h)

(1)

Write two liabilities of surety.

SIS 75 iRy fore

What is contract of gale ?

Rl 57 = @i

Write two differenceg b
bailment.

Re1 pfe w1 argpsfy o
= RIS ers 7y el

€tween sale and

Write two differences bétween
partnership gnq Company

ST 2o
%W_ﬁWWWww%m%@w@]
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0.

Write two essential features of
negotiable instruments.

BTN WieTeTs 75) TN R RSy el |

Answer any four of the following questions

st ermEa R oo Se ol .

(@)

(b)

(c)

(d)

5x4=20

Briefly state the essential elements of
a valid contract.

(R4 pfes TR CAMFRE 53t <ol
341 |

Explain the duties of bailee.
TR FEUTTZ =01 541 |

Briefly discuss with examples the rules
relating to contingent contract.

TAACACE Bfes FTes 4l s
e LEER T (el a1 Sl

Distinguish between sale and
agreement to sell.

ﬁéﬁtﬂﬁsﬁhﬁ1aW@@asm§@‘ﬁmﬁﬁ(Fﬂﬁan
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(e) State the features of limjteq liability
partnership.

ﬁﬁ@mﬁr\ﬁwﬁm‘%ﬁ%@mmﬂfﬁa@
4l |

(f) State the €ssential elements of
partnership.

S 2OV Sropayty Sz <Al

4 -

(g) Distinguish between
and cheque. \
OO 7 918 5 s ey oy

() Briefly explain the g
endorsements.

RIS S 16T Bt e ey 1

Answer any four of the fo
in 600 words each -

Promissory note

fferent kinds of

lowing questions
10x4=40

m ‘EOO%T LETE w St
R Sy S A

(a) What is contracf? S

tate the various
types of contract,

2+8=10

ﬁmmpﬁmmwww'
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(b) What is void agreement? Discuss the
different types of void agreements under
the Indian Contract Act, 1872.

2+8=10
aﬁ*ﬁ T FIT (@12 SO b Wiz,
START WIS [iew T Jifee wrwmz
ONCEB] T |
(c) Di.scuss the rights and duties of an
agent. 6+4=10
GG eifefiiT SR i FEFTR =
B NI

(d) Discuss the rights of surety.

SRS SRR S 4 |

(¢) Who is an unpaid seller ? Discuss the
rights of an unpaid seller. 2+8=10

SelReifEe Hrae (I 2 SoIRr=ifEe [Rrmer
PP D w5t |

(f) State the essential elements of a

contract of sale. Briefly discuss the
rules regarding delivery of goods.
4+6=10
R pfes s SoAmmTE w91
ool Aol FofR [fETR B3t S w5 |
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(g) Explain the procedures of registration
of partnership firm. Also state the

benefits of registrationlof partnership"
firm.

(i) State the obligations of public
authorities under the Right fto
Information Act, 2003.
300¢ B ©2AH SN TR S Gl

6+4=10 Z
6+4=1 P oea NI I

S| 2V G et |

91| SN0 BRI elfov AGRR ez
ot 50| '

(h) () Discuss the advantages of limited

liability partnership. 5

(i)

crossing of g Cheque

P (SARSHT T Qe 9 @mcm e
W CW @'2“"\@ aﬁ?{n ?]E{-“
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